
Academic Systems
General procedure for solving word problems using linear systems.

(a.) List the quantities to be found.  Use English phrases/sentences.

(b.) Write a linear system of equations that describes the problem.  Generally, 
each equation will have a topic that can be described in words. 

(c.) Solve the system.  You can do this using substitution or elimination.

(d.) Express your answer (being sure that the answers check).  Since the question was posed in words, you should give your answer in the form of a sentence.

1 MACROBUTTON MTPlaceRef \* MERGEFORMAT .) 
Josef wants to earn $63.75 in interest this year.  He has $1400 to split between his checking account, which pays 2.5% interest, and his savings account, which pays 5% interest.  How should Josef divide his money?

(a.) List the quantities to be found.  Use English phrases/sentences.

Bad: x = checking and y = savings

Good: c = the amount in checking and s = the amount in savings.
(b.) Write a linear system of equations that describes the problem.  Generally, each equation will have a topic that can be described in words. 

Total invested: 
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Interest earned: 
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(c.) Solve the system.  You can do this using substitution or elimination.

Solve by substitution: 
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Substituting into the second equation, we have 
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Combining like terms: 
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[image: image7.wmf]1150

s

=

.

Substituting back, we are left with 
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(d.) Express your answer (being sure that the answers check).  Since the question was posed in words, you should give your answer in the form of a sentence.

Bad: c = 250 and s = 1150

Good: Josef should put $250 into his checking account and $1,150 into his savings account.
2 MACROBUTTON MTPlaceRef \* MERGEFORMAT .) 
Reese has $225 in ten dollar bills and five dollar bills.  The number of five dollar bills is 15 more than the number of ten dollar bills.  How many of each does he have?

3 MACROBUTTON MTPlaceRef \* MERGEFORMAT .) 
Casey has 15 pounds of cashews that sell for $5.25 per pound.  If peanuts sell for $2.50 per pound, how many pounds of peanuts should he add to the cashews to obtain a mixture that will sell for $3.75 per pound? 
4 MACROBUTTON MTPlaceRef \* MERGEFORMAT .) 
Two years ago, Taz was three times as old as Gel will be in one year.  In four years, Taz will be fifteen times Gel’s age last year.  How old are Taz and Gel today?

5.) Dory has a solution that is 65% boric acid and a solution that is 15% boric acid.  How much of each should she use to obtain 300ml of a solution that is 35% boric acid?
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Eqpuation 1 (quantity):

Equation 2 (concentratior).
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